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A Level Economics Component 1

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1-20 957 9.9 3.9 20 49.7 100
21 957 2.5 0.7 3 82.5 100
22 956 3 1.4 5 60.7 99.9
23 956 3.1 2.2 8 38.2 99.9
24 954 4.9 2.1 8 60.7 99.7
25 955 4.1 2.1 8 50.7 99.8
26 952 4.7 2 8 58.1 99.5
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A Level Economics Component 1

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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22. (a) State the type of integration involved if Sainsbury’s had merged 
with Asda. 


Total 


 AO1: 1 mark 
 
Award 1 mark for correct answer: Horizontal integration (2 related 
firms at same stage of production)  
 


1 
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22. (b) Using a cost and revenue diagram, explain how a switch from profit 
maximisation to sales revenue maximisation might affect Sainsbury’s 
market share.   [4] 


Band 
AO1 AO3 


2 marks 2 marks 


2 


2 marks 
Good understanding 
 
Accurate costs and revenue 
diagram showing the effect of 
shifting from profit maximisation to 
revenue maximisation 


2 marks 
Good analysis 
 
Clear well-developed chain of reasoning 
as to why the cut in price to revenue 
maximise will increase market share 


1 


1 mark 
Limited understanding 
 
Costs and revenue diagram 
contains minor errors but is broadly 
correct 


1 mark 
Limited analysis 
 
The point made linking revenue 
maximisation to increased market share 
is either undeveloped or not convincing. 


0 


0 marks 
No valid understanding 
 
Diagram has a large number of 
errors or no diagram is drawn 


0 marks 
No valid analysis 
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Indicative content 
 
AO1 
 


 


 
 
Profit max where MC=MR (P1Q1) and revenue maximisation where MR=0 (P2Q2).  
Lower prices and sales are higher thus increasing the possibility of a higher market share. 
Band 1 AO1 if either profit max OR revenue max is drawn identified correctly. 
 
AO3 
 
Market share is percentage of overall revenue within the market - stronger answers will 
relate back to this idea rather than simply an increase in output. 
A lower price may drive other firms from the market thereby increasing market share. 
 
  












1


4


Accurate diagram showing profit maximisation and revenue maximisation
(AO1 2). Good chain of analysis showing how a rise in sales revenue can
lead to a rise in market share. (AO3 2).
















0


2







Profit maximisation correctly identified on the diagram (AO1 1). Vague
assertion based analysis of how market share will increase. (AO3 1).
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22.	 The chart below gives information on Sainsbury’s market share in 2018 and early 2019. In 
2018 Sainsbury’s announced plans to merge with its competitor, Asda. In April 2019 this 
proposed merger was blocked by the Competition and Markets Authority.  


Sainsbury’s market share (% of total value of supermarket sales)


	 (a)	 State the type of integration involved if Sainsbury’s had merged with Asda. 	 [1]


	


	


	 (b)	 Using a cost and revenue diagram, explain how a switch from profit maximisation to 
sales revenue maximisation might affect Sainsbury’s market share.	 [4]
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23. Discuss the extent to which the UK’s terms of trade will have deteriorated 
after the EU referendum in 2016.  [8] 


Band 
AO1 AO2 AO3 AO4 


1 mark 1 mark 3 marks 3 marks 


3 


  3 marks 
Excellent analysis 
 
The concept of the 
terms of trade has been 
well used effectively 
showing a clear line of 
reasoning to explain 
how the depreciation of 
the exchange rate 
caused a deterioration 
in the terms of trade. 
The impact on both 
export and import 
prices is covered 


3 marks 
Excellent 
evaluation  
 
Strong well-
developed 
evaluation 
showing why the 
terms of trade 
may not have 
deteriorated 
despite the 
depreciation of 
the exchange 
rate. 


2 


  2 marks 
Good analysis 
 
The concept of the 
terms of trade has been 
used effectively 
showing a clear line of 
reasoning to explain 
how the depreciation of 
the exchange rate 
caused a deterioration 
in the terms of trade. 
Only one of the price of 
exports or price of 
imports has been 
explained fully 


2 marks 
Good evaluation 
 
Good evaluation 
showing why the 
terms of trade 
may not have 
deteriorated 
despite the 
depreciation of 
the exchange 
rate. 


1 


1 mark 
Understanding 
 
Understanding 
of the terms of 
trade is shown 


1 mark 
Application 
 
The graph is 
used 
effectively in 
the answer 


1 mark 
Limited analysis 
 
The link between the 
depreciation of the 
exchange rate and the 
terms of trade shows a 
line of reasoning which 
is not always clear 


1 mark 
Limited evaluation 
 
Evaluation is 
present but the 
point is 
underdeveloped, 
lacking the depth 
for a higher band 
answer 


0 
0 marks 


No valid 
understanding 


0 marks 
No valid 
application 


0 marks 
No valid analysis 


0 marks 
No valid 
evaluation 
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Indicative content: 
 
AO1: 
 
Terms of trade = Index of export prices/index of import prices X100. 
 
AO2 
 
Direct reference to the raw data forms an integral part of the answer (£ drops by about 15% 
etc.). 
 
AO3 
 
Fall in the pound/depreciation) makes import prices more expensive in local currency terms 
but leaves export prices the same in local currency terms. Thus the terms of trade 
deteriorates, because a given amount of exports will now buy fewer imports than previously. 
 
AO4 
 
Other factors affect the terms of trade, such as UK and international inflation rates, global 
commodity prices and so on. 
 
The data only relates to the pound v the US dollar, not other key currencies such as the 
euro. Thus the overall terms of trade cannot be calculated. 
 
£ clearly recovers over the next couple of months reducing the impact 
 
  












3 


Understanding of the terms of trade shown (AO1 1) and use of the data
(AO2 1). There is then some irrelevance and no valid analysis. Some
evaluation is given limited reward at the end. (AO4 1).
















7.


Clear understanding of the terms of trade using the equation (AO1 1).
Use of the data relating the depreciation to the deterioration in the terms
of trade (AO2 1) and very good analysis (AO3 3). Evaluation is rather
rambling but still has some valid content (AO4 2).




















3 
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Discuss the extent to which the UK’s terms of trade will have deteriorated after the EU 
referendum in 2016.� [8]
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23. The chart below gives information on the £/$ exchange rate before and after the UK’s
referendum on EU membership.


Exchange rate against the US dollar
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26. With reference to the data, and using appropriate economic analysis, 
discuss whether governments should significantly increase indirect 
taxes on meat.  [8] 


Band 
AO2 AO3 AO4 


2 marks 3 marks 3 marks 


3 


 3 marks 
Excellent analysis 
 
Strong line of argument 
showing a clear link 
between increasing 
indirect taxes on meat 
and economic benefits. 
There is clear use of 
economic analysis with 
at least 1 well developed 
piece of theory 


3 marks 
Excellent evaluation 
 
Strong counter-
argument(s) 
demonstrating clearly 
why an increase in 
indirect taxes on meat 
might be ineffective or 
counter-productive. 


2 


2 marks 
Good application 
 
Data is well used on 
both sides of the 
discussion 


2 marks 
Good analysis 
 
Clear line of argument 
showing a link between 
increasing indirect taxes 
on meat and economic 
benefits. Economic 
analysis not fully 
developed 


2 marks 
Good evaluation 
 
Clear counter-argument 
demonstrating why an 
increase in indirect 
taxes on meat might be 
ineffective or 
counterproductive. 


1 


1 mark 
Limited application 
 
Data is used, but is 
either superficial or 
covers only one side of 
the debate 


1 mark 
Limited analysis 
 
There is a chain of 
reasoning but it is less 
convincing in its attempt 
to link indirect taxes and 
economic benefits 


1 mark 
Limited evaluation 
 
Counter-arguments are 
present but are not well 
developed. 


0 
0 marks 


No valid application 
0 marks 


No valid analysis 
0 marks 


No valid evaluation 
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Indicative content: 
 
AO2 
 
Meat use involves intensive use of farmland but is inefficient in terms of protein output (80% 
of the land but only 37% of the protein). 
 
Rising GDP/capita appears to be correlated with increased meat consumption per capita. 
Rising taxes may not make much of an impact on this because consumption appears higher 
at higher income levels irrespective of the economic system. 
 
Not all meat related products have the same negative effects and even within a category, 
the way in which the food is produced has a major impact on the environmental footprint. 
 
Agriculture is only part of the problem of greenhouse gas emissions and meat is only a part 
of agriculture, therefore the impact that an indirect tax has might be limited. 
 
AO3 
 
Lines of economic analysis are likely to centre on: 
Allocation of resources 
Market failure 
Elasticity 
Inequality (regressive nature of indirect taxes etc.) 
Risks of cost-push inflation. 
Candidates may draw an externalities diagram or a demand and supply diagram showing 
the impact of a tax on meat. 
 
Top band answers will have at least one well-developed piece of theory. 
 
AO4 
 
Animals aren’t just there for meat – part of ecosystem, way of life etc. 
Meat isn’t the biggest issue – focusing efforts in the wrong place, waste of government 
resources etc. 
Regressive nature of indirect taxes 
Dependent on PED for meat – how well can people cook alternatives. 
Impact on the restaurant sector 
Getting the tax at the right level likely to be difficult – risk of government failure? 
Risk of damaging small farmers and crofters who are already economically marginal. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
A520U10-1 EDUQAS GCE A Level Economics – Component 1 MS S22/DM 












6


Good analysis using economic theory as to why meat should be taxed
(AO3 3) with good use of the data (AO2 1). Evaluation is a little brief
although economic theory is used well (AO4 2). There is no reference to
the data when evaluating.
















8


Very good analysis using market failure theory plus a diagram to justify
the use of a tax on meat (AO3 3). There is strong detained evaluation
(AO4 3) and the data is used on both sides of the discussion (AO2 2).
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26.	 Vegan diet to save the planet?


	 According to a recent report, avoiding meat and dairy products is the single biggest way to 
reduce your environmental impact on the planet, but rising global incomes look likely to cause 
a rapid increase in meat consumption. 


	


	 With reference to the data, and using appropriate economic analysis, discuss whether 
governments should significantly increase indirect taxes on meat. 	 [8]
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